Philipp - Melanchthon – Gymnasium Bautzen								Mathematik Kl. 8		

	Termumformungen
	Übungsmaterial
	1


Verbindungskniffel
	 
	Aufgabe
	Lösung A
	Lösung B
	Lösung C

	1
	4 (2a + 7b) =
	8a + 28b
	14
	8a + 7b
	93
	4a + 28b
	9

	2
	7k - 7 =
	7 (k)
	129
	7 (k - 7)
	9
	7 (k - 1)
	-423

	3
	6 (5x - 9) =
	30x - 9
	-671
	30x - 54
	9
	30x + 54
	19

	4
	ax + ay =
	a (x + y)
	93
	ax (1 + y)
	223
	a (x + ay)
	90

	5
	2a (12 + 3b) =
	24a + 6b
	342
	24a + 3b
	-2
	24a + 6ab
	223

	6
	12 - 12ab + 12a =
	12 (1 - ab + a)
	-671
	12 (-ab + a)
	12
	12a (-b + 1)
	144

	7
	8 (0,3x - 1,4y) =
	8x - 1,4y
	741
	2,4x - 1,4y
	19
	2,4x - 11,2y
	129

	8
	bc + bd - 3b =
	b (cd - 3)
	12
	b (c + d - 3b)
	9
	b (c + d - 3)
	90

	9
	12 (3 - 8y) =
	36 - 8y
	-69
	36 - 96y
	19
	12 - 96y
	144

	10
	11x - 3xy + x² - xz =
	x (11 - 3y + x - xz)
	90
	x (11 - 3y - z)
	741
	x (11 - 3y + x - z)
	144

	11
	a (ab - 2b²) =
	a²b - 2ab²
	741
	ab - 2ab²
	12
	a² - 2ab²
	-2

	12
	2x + 4y =
	2 (x + 4y)
	1072
	2 (x + y)
	301
	2 (x + 2y)
	342

	13
	5 (3x + 4y - 2z) =
	15x + 20y - 10z
	-2
	15x + 20y + 10z
	-87
	15x + 20y - 2z
	8

	14
	12ab - 12ac =
	a (12 - 12c)
	90
	12a (b - c)
	12
	12 (ab - c)
	95

	15
	6a (b - 3 + 7a) =
	6ab - 18a + 42a
	301
	6ab - 18a + 42a²
	-69
	6ab - 3a + 42a²
	-123

	16
	5ab + 10b =
	5b (a + 2)
	8
	5b (a + 10)
	86
	5 (a - 2b)
	32

	17
	ab (a + b - 1) =
	a²b + ab - ab
	1072
	2ab + ab² - ab
	86
	a²b + ab² - ab
	-123

	18
	8yz - 8xz =
	8z (y - x)
	86
	8 (yz - 8xz)
	903
	8z (y + zx)
	3

	19
	1,5 (6p + 10q - 7r) =
	9p + 10q - 7r
	-77
	34,5pqr
	86
	9p + 15q - 10,5r
	95

	20
	5u² + 5u =
	5u (u + 1)
	1072
	10u³
	32
	u (5 + 5)
	41

	21
	2y (4xy - 9xz + 4) =
	0
	301
	8xy² - 18xyz + 8y
	-87
	8xy² - 18xz + 8y
	56

	22
	17y³ - 34y² =
	y (17y - 34)
	3
	17y² (y - 2)
	301
	17y³ (-2)
	6

	23
	0,5 (3x - 6y + 8z) =
	1,5x - 3y + 4z
	32
	0,5xyz
	56
	1,5x + 3y - 4z
	41

	24
	3,5a - 5ab =
	3,5a (1 - 5b)
	-77
	a (3,5 - 5b)
	903
	a (3,5a - 5b)
	61

	25
	9 (7 + a - x) =
	63 + 9a - 9x
	3
	63 + a - x
	74
	63ax
	-451

	26
	m - am + 3mn =
	m (-3a)
	6
	m (-a + 3)
	41
	m (1 - a + 3n)
	56

	27
	8 (a - 3) =
	8a - 3
	6
	8a - 24
	-77
	24a
	107

	28
	12x - 18y + 15a =
	12 (x - 18y + 15a)
	28
	3 (x - y + a)
	61
	3 (4x - 6y + 5a)
	-451

	29
	7 (c + 3) =
	7c + 3
	61
	21c 
	107
	7c + 21
	41

	30
	9a + 9b =
	9 (ab)
	107
	9 (a + b)
	74
	81ab
	6

	31
	(-3) (2 - m) =
	6 - m
	28
	-6m
	15
	-6 + 3m
	6

	32
	15cd - 15z - 15d =
	15 (cd²z)
	39
	15 (cd - z - d)
	61
	15cz
	15

	33
	(-1) (x + 6) =
	-x + 6
	107
	-x - 6
	28
	-6x
	34

	34
	5y - 5x - 5xy + 5z =
	5x²y²z
	231
	5z - 5
	17
	5 (y -x -xy + z)
	-97

	35
	(-1) (t + s - 11) =
	-t - s + 11
	39
	-t +s -11
	-92
	11ts
	11

	36
	8 - 8w =
	8 (-w)
	17
	8 (1 - 8w)
	231
	8 (1 - w)
	107

	37
	5 (3m + 4) =
	15m + 20
	-65
	15m + 4
	34
	19m 
	55

	38
	3a - 3ab + 3 =
	3a²b
	15
	3 (a - ab + 1)
	11
	3 (a - ab)
	16

	39
	(-2) (5 + 3b) =
	-10 + 6b
	17
	-10 - 6b
	15
	-10 - 3b
	231

	40
	18b - 18bx - 18by + 18x =
	18 (b - bx - by + x)
	17
	-18xy + 18x
	51
	18 (b³x²y)
	167

	41
	7 (2x + 3y - z) =
	28xyz
	-92
	14x + 21y - z
	34
	14x + 21y - 7z
	55

	42
	by + 3bx =
	b (y + 3x)
	231
	b (3xy)
	-99
	b (y + 3bx)
	207

	43
	8 (2u + 7v) =
	74uv
	400
	16u + 56v
	34
	16u + 7v
	167

	44
	15de - 15df =
	15d (e - f)
	-92
	15 (e - f)
	456
	15d (ef)
	18

	45
	(-1) (9b - 3c) =
	-9b + 3c
	51
	-9b - 3c
	16
	-6bc
	207

	46
	s²t - s² =
	s² (t - 1)
	167
	s (t - s)
	67
	s (t - 1)
	-26

	47
	5 (-2a + 3b - 9c) =
	-10a + 15b - 45c
	207
	-10a + 15b - 9c
	18
	10a + 15b + 45c
	16

	48
	bcd + 8bc =
	bc (d + 8)
	-99
	bc (d + 8c)
	-26
	bc (8d)
	-191

	49
	2a (y + x) =
	4a²xy
	16
	2ay + 2ax
	18
	2ay + x
	4

	50
	a + 3a² - ab =
	a (3a - b)
	456
	a (1 + 3a - b)
	67
	a (1 + 3 - b)
	456

	51
	3b (a - c) =
	3ab + 3bc
	13
	a - c
	-89
	3ab - 3bc
	16

	52
	9s²t + 12 st² =
	3 (3st + 4st)
	23
	3st (3s + 4t)
	456
	3st (s + t)
	952

	53
	3z (m - n + p) =
	3zm + 3zn + 3pz
	-89
	3mnp
	4
	3mz - 3nz + 3pz
	-26

	54
	36b³ - 20b =
	b (36b - 20)
	-191
	4b (9b² - 5)
	400
	16b²
	13

	55
	3k (2r - 5s) =
	6kr - 15s
	-191
	6kr - 15ks
	13
	6kr - 5s
	952

	56
	z³ - 5yz² =
	z (z² - 5y)
	-89
	z² (-5y)
	952
	z² (z - 5y)
	-89

	57
	(3r - 7p) (-q) =
	-3rq + 7pq
	-191
	3rq - 7pq
	4
	-3rq - 7pq
	23

	58
	15v² + 15v =
	15 (v² + 1)
	23
	3 (5v² + 5)
	300
	15v (v + 1)
	952

	59
	3a (2a - 4b - 1,5c) =
	6a² - 12ab - 4,5ac
	4
	6a - 12b - 4,5c
	10
	6a² - 12b - 4,5c
	907

	60
	x³ + x² + x =
	x (x² + x)
	711
	x³ (x² + x)
	1
	x (x² + x + 1)
	23

	61
	(-2x - 4y) (-3y) =
	6xy - 12y²
	-191
	6xy + 12y²
	300
	-6xy - 12y²
	952

	62
	3m + am + km =
	m³ (3 + a + k)
	907
	m (3 + a + k)
	10
	m (3a + k)
	1

	63
	1,5c (2u - 3v) =
	3u + 4,5cv
	861
	3cu - 4,5v
	300
	3cu - 4,5cv
	907

	64
	xy + ay - sy =
	xy (x + a - s)
	23
	y (x + a - s)
	711
	y (x + as)
	300

	65
	x (x² + x) =
	2x² + 2x
	300
	x² + 2x
	10
	x³ + x²
	861

	66
	2d + 7d² - 3d³ =
	d (2d + 7d - 3d²)
	907
	d (2 + 7d - 3d²)
	1
	2d (1 + 7d - 3d)
	711
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